
lim
x→+∞

(
x − ln ch x

)
.

α ∈ R
+∞∫

0

xα sin (ex) dx .

∞∑

k=2

sin k

k + sin x
x ∈ R

f(x, y) = |xy| R2

f(x, y) = x2 + y
x + y2 = 3

4

∫

S

z dS,

S =
{

(x, y, z) ∈ R3
∣∣∣ x � 0, y � 0, z = x2 + y2 � 1

}
.

(2x + 1)y′′(x) + 4xy′(x) − 4y(x) = 0

x > 0
E

〈x, y〉 =
1∫
0

x(t)y(t) dt

E x(t) = t2 M

∮

|z|=1

dz

sin 1
z

.

R2

utt = uxx + uyy + ty2, t > 0,

u|t=0 = x2y, ut|t=0 = xy .
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x > гx > 0г0ггггггггггггу

(2у(2xуx + 1)у+ 1)

0 у0 уууууууууууууб
x, y, z бx, y, z) б) ∈ б∈ RбR

3

б
3 ∣б∣бббббббббб+ 1)б+ 1)yбy′′б′′(б(xбx) + 4б) + 4

оооо
∫

о
∫

SоS∣ о∣∣ о∣∣∣∣ о∣∣∣
x оx �о� 0о0, yо, y �о�оовввввввввввввввв

∫ в∫
z dS,вz dS,

....РРРРРРРРРРРРРР( Р(x, yРx, y) =Р) =РФ
)

Ф
) dx .

Ф
dx .
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lim
x→∞

x

(
π

4
− arctg

x

x + 1

)
.

α ∈ R
+∞∫

0

x − sin x

xα
dx .

∞∑

k=1

arctg x
k

x + k
E1 = (0, 1) E2 = (1, +∞)

f(x, y) = |y| sin x R2

f(x, y) = x2 + y

x2 +y2 = 1

∫

S

xy dS,

S =
{

(x, y, z) ∈ R3
∣∣∣ x � 0, y � 0, z � 0, z2 = x2 + y2 � 1

}
.

x2y′′(x) ln x − xy′(x) + y(x) = 0

x ∈ (0, 1)
E e = { e1 , e2 }

Γ =

(
1 −1

−1 2

)
M = Lin{e1 − e2}

M⊥

M e∮

|z|=1

z dz(
cos 1

z

)2 .

R2

utt = uxx + uyy + tx2, t > 0,

u|t=0 = y2, ut|t=0 = 0 .
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∈ г∈ (0г(0гггггггггггуу

xуx2у2yуy (у(

(0 у(0, у, 1)у1)уууууууууу
=
у
=

(у(

б∈ б∈ R бR3 б3
∣

б
∣∣б∣
∣∣∣б
∣∣∣∣б∣∣∣∣б∣∣∣ xбx �б�бббббббббб′′ б′′(б(xбx) lnб) ln

оооооооо
∫

о
∫

SоS0о0, yо, y �о� 0о0

ввввввввввввввввввв∫ в∫
xy dS,вxy dS,

....РРРРРР
E РE2 Р2 = (1Р= (1,Р, +Р+РРРРРРРРРx, yРx, y) =Р) =

Ф
α

Ф
α
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x + 2y − 3z + 1 =
= 0 A(0; 1; 0) B(2; 1; 4)

λ




2x − y − 5z = 3,
−x + 2y + z = λ,

−x + y + 2z = 3.

lim
x→1

√
x2 − x + 1 − 1

ln x
.

z = 2x−8y+7
x2 + 2y2 = 1

∞∑
n=1

(−1)n

n
(x + 2)n .

Ω =

{
(x, y)

∣∣∣∣ x > 0; y > 0; 1 < x2 + y2 < 3; 0 < z <
2x + 3y

x2 + y2

}
.

z = x2 + y2

x2 + y2 = 1
f(x) = π − |x| x ∈ [−π, π]

2π

y′′ − 4y = 8e2x .
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x, y гx, y) г)

∣г∣∣г∣∣∣∣г∣∣∣∣г∣∣∣∣г∣∣∣гггггггуууууу
∣ у∣∣ у∣∣∣∣ у∣∣∣

x >уx > 0;у0; y >уy >уууууб
∑

б
∑
nбn=1б=1ббббббббоооооооо
∞ о∞∑ о∑ ( о(−о−1)о1)nоnоnоn (о(xоx

вxвxz вz = 2в= 2xвx−в−8в8вв.+7.+7
Р

λ,

Р
λ,

= 3 Р= 3. Р. ФФФФФ



lim
x→ 0

x − sin x

x − tg x
.

α ∈ R
+∞∫

0

x − sin x

xα
dx .

∞∑

k=1

x + k2

x + 2k
E1 = (0, 1) E2 = (1, +∞)

f(x, y) = x|y| R2

f(x, y) = x2 + y

x2 +y2 = 1

∫

S

z dS,

S =
{

(x, y, z) ∈ R3
∣∣∣ x � 0, y � 0, z � 0, z2 = x2 + y2 � 1

}
.

y′′(x) − y(x) = sin x

x ∈ R

L {e1, e2}(
1 4
1 1

)

∮

|z|=2

z dz

z + 1
.

uxy = 1, x ∈ R, y ∈ R,

u|x=y = x, uy|x=y = 0 .
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∫

о
∫
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∫ в∫

z dS,вz dS,в...РРРРР
E РE2Р2 = (1Р= (1,Р, +Р+РРРРРРРРРx, yРx, y) =Р) =
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